
CM3710PT
CM3710RT







4 / 7



CM3710PT

Stand

Bolt 1/4”x3/4” Lock Washer 1/4” Flat Washer 1/4” Threaded Stud

Bolt 5/16”x2” Lock Washer 5/16” Flat Washer 5/16” Allen Wrench M5 Spacer

CM3710RT



I. Prepare 4 bolt assemblies by 
inserting FIRST the lock washer (#B) 
onto the bolt (#A) and then the flat 
washer (#C) onto the SAME bolt (#A), 
in that order. 

II. Align the short sides of the 4 L-
brackets (#E) with the pre-drilled 
holes on the stand (#3).  Insert 4 bolt 
assemblies through the short sides of  
the L-brackets (#E) and secure those 
bolts using the Allen wrench (#D) to 
lock them with the stand (#3).

III. Prepare 8 bolt assemblies by 
inserting FIRST the lock washer (#H) 
onto the bolt (#G) and then the flat 
washer (#I) onto the SAME bolt (#G), 
in that order.

IV. Align the base (#4) with the pre-drilled 
holes on the 4 stands (#3).

V. Insert the bolt assemblies through the 
base (#4) and secure those bolts 
using the Allen wrench (#J) to lock 
them with the stands (#3).

Turn right (clockwise) to tighten

I. Align the shelf (#2) with the long sides of the L-brackets (#E) assembled 
on the stands (#3).

II. Prepare 4 bolt assemblies by inserting FIRST the lock washer (#B) onto 
the bolt (#A) and then the flat washer (#C) onto the SAME bolt (#A), in that 
order. 

III. Insert the bolt assemblies through the long sides of the L-brackets (#E) 
and secure those bolts using the Allen wrench (#D) to lock them with the 
shelf (#2).



Insert the 4 threaded studs (#F) into the top 
of the stands (#3).  Then insert the 4 spacers 
(#K) onto the 4 threaded studs (#F). 

I. With the help of another 
person, carefully place and 
center the glass top (#1) 
over the spacers (#K).

II. Make sure the table is 
rested on a flat surface and 
does not feel loose or 
wobbly.  If it does, double 
check that the bolts/screws 
are secured and properly 
tightened.


	01.pdf
	02.pdf
	03.pdf
	04.pdf
	05.pdf
	06.pdf
	07.pdf



